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MODEL QUESTION 05

1. Fillin the blanks with the words from the box. Make any change if necessary.

undoubted | eradicate | to hinder boon of improve lag

the a joint be

llliteracy is not a (a) .Itis (b) curse. It (c) all kinds of development activities of our country.
We are responsible for being illiterate. The Govt. has taken steps to (d)_____ it from the country. llliteracy
causes great harms (e)____us. Because of illiteracy we remain deaf and dumb. As we do not know the ways
(f)____ development, we cannot take steps to (g) our poor condition. As a result we are always
(h) behind. We are dependenton (i) foreign aids and grant. So all should come forward (j)

remove illiteracy from the country soon.

a d g j
b e h
c f i

2. Fill in the blanks with suitable words.

The whole world is now dependent a)__ mobile phone. It is b)___ our time, energy and money and
providing us c¢)___ maximum benefit. It has d)___ about a revolution e)___ the filed of communication. f)
___its dark side is also so terrible. Criminals can easily commit crime with the g)___ of it. Particularly our
young learners are h)___ addicted to the use of mobile phones. They are being out of control and doing

unexpected activities i)____ of having mobile phones. Parents and guardians are quite helpless. Hence, it is
high time we j)____ effective steps to save them, to save the nation.
a d g i
b e h
c f i
3. Make five sentences using parts of sentences from each column of the table below.
Ambition never be successful in life one sits idly.
Almost all of us needs a particular ambition.
One cherish to be competitive too.
can to work hard to materialize any ambition.
means desire to achieve something.

4. Complete the following text with right form of the verbs given in the box.

underestimate | avoid | be fall have suffer | realise | write | take keep

English a)___ an international language. All that is best in modern civilization is available in English. If we
b)___ English, wec)___ ourselves aloof from the civilized world. Our educationd)____ most because almost
all the books necessary for higher education e)___ in English. English still f)___ a commanding position in
every sphere of our life like science, technology, law, medicine, commerce, industry and diplomatic services.
Itis quite impossible to replace English by Bangla overnight. But in the meantime the position of English g)__
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and for that reason the standard of education h)____ down. It is hightime we i)___the importance of learning
English and j) __ necessary measures to upgrade the standard of learning English.

a d g j
b e h
c f i

5. Change the narrative style of the following text:

Alam, “Happy birthday to you. You are looking very smart.” “Thanks for your appreciation.” said Alam,
“Where is Manika? Won'’t she come?” “Sorry, she has gone to hospital with her mother.” She replied.” But,
why” he asked. “She fell on the road and lost sense,” said Sabina. “Let’s go to the hospital,” said Alam.

6. Change the sentences according to directions.

a) Industry is the key to success. (Complex)

b) None can prosper in life without industry. (Affirmative)

c) Industry brings peace to one’s life. (Passive)

d) Those who are idle always lag behind (Simple)

e) They have to live at the mercy of others. (Interrogative)

f) We have to work hard to earn money and acquire knowledge. (Compound)

g) The active persons do not depend on others. (Affirmative)

h) People say that a hard working person can see the light of prosperity in life. (Passive)
i) Poverty dare not enter the house of an active person. (Complex)

j) So, women should work as much as men. (Comparative)

= || [ |0 |(T|w

j
7. Complete the following sentences.

a) We work hard so that

b) If we are not industrious,

c) We know the proverb that

d) Everybody praises and honors the person who

e) By everyone can succeed in life.
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

a) Confidence helps a man to reach the goal of life. The lack of (b) determine leads one to lose his
confidence. You need it in order to overcome the problems in life. First, fix up a target in life. Then try (c)
sincere to gain success. Do not lose heart if you fail first. Remember that (d)fail_is the pillar of success.
Whereas success without (e) compete is not enjoyable. Firmness keeps you (f) mental strong and you make
(g) prepare for struggle to reach the goal. Nobody can be (h) success in his mission. Failure makes him more

(i) determine to work with (j) new vigor and energy.

a d g i
b e h
c f i

9. Make tag questions of these statements.

a) My father and | went to the zoo yesterday, ?

b) The headmaster and secretary made a plan, ?

c) Happy birth day, ?

d) All that glitters is not gold, ?

e) Raihan and not his brothers got the prizes, ?

10. Complete the passage with suitable connectors.

An early riser getsa)___time to discharge his daily duties, preserving extra time for extra money making. In
this way, he may be wealthy. The beautiful gifts of nature remind everybody of the creator b)___ he may
make his morning prayers, c)___, if a student rises early, he can prepare his lessons quickly d)___ other time,
e)___ he may be more talented.

a C e
d
11. Rewrite the following passage and punctuate where necessary.

what are you writing the angel looked up and replied in sweet tone the name of those who love the lord and
is mine one asked abu no your name is not included here replied the angel abu said please write down my
name as one who loves his fellowmen
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